



LIE TRIPLE DERIVATION AND LIE BI-DERIVATION ON QUATERNION RINGS

MOHD ARIF RAZA, AISHA JABEEN, AND TAHANI AL-SOBHI

Received 21 September, 2022

Abstract. In this study, we prove the existence of the central Lie bi-derivation for the ring with identity on the quaternion ring. We also describe the triple Lie derivation using the Jordan derivation on the aforementioned ring. An example is provided to demonstrate that our result is theoretically viable.

2010 Mathematics Subject Classification: 16W25; 15A78; 47L35

Keywords: quaternion ring, Lie triple derivation, Lie bi-derivation

1. INTRODUCTION

Recently, the study of differential operators on quaternion rings has increasingly piqued the interest of researchers. Numerous scholars have investigated the formation of Lie derivations on rings. An essential question arising in this context is; ‘On a quaternion ring what are the circumstances that allow the decomposition of a Lie derivation into the sum of a derivation and an additive central map that vanishes on all commutators of rings?’ A Lie derivation of certain primitive rings was originally established to be in standard form by Martindale [15]. Miers [16, 17] considered similar findings on von Neumann algebras. In [8], Hvala demonstrated that each generalized Lie derivation of a prime ring \mathcal{W} whose characteristic is not 2 is the sum of a generalized derivation and an additive central map that vanishes on all commutators of \mathcal{W} . Liao and Liu [12] have extended Hvala’s finding to a prime algebra’s Lie ideal. In 2020, Ghahramani et al. [6] evaluated Lie derivations on quaternion rings and demonstrated that every Lie derivation is in standard form on acceptable quaternion rings. Again in 2021, Ghahramani et al. [7] demonstrated that every Jordan derivation of \mathcal{W} is a derivation, and that every derivation of \mathcal{W} decomposes into the sum of an inner derivation and a derivation induced by a derivation on \mathcal{W} .

On the other hand in 2021, Asif et al. [3] provided an in-depth specification of all Lie triple derivations of $A \otimes F$, where A is a finite dimensional commutative algebra

and L is a simple Lie algebra over an algebraically closed field. Inspired by the present ongoing contribution in this direction, it is unsurprising to discuss Lie triple derivation and Lie bi-derivation on quaternion rings and we prove that the existence of the central Lie bi-derivation on the quaternion ring. We also describe the triple Lie derivation using the Jordan derivation on the aforementioned ring. An example is provided to demonstrate that our result is theoretically viable.

Before presenting our results, let's recall some known definitions and related theories established by eminent ring theorist for the sake of completeness. Let \mathcal{W} be a ring and $\mathcal{Z}(\mathcal{W})$ be the center of \mathcal{W} . For each $x, y \in \mathcal{W}$, denote the Lie product (or the commutator) of x, y by $[x, y] = xy - yx$, and the Jordan product of x, y by $x \circ y = xy + yx$. An additive map Ω on \mathcal{W} is called as derivation if $\Omega(xy) = \Omega(x)y + x\Omega(y)$ is always true for every $x, y \in \mathcal{W}$. An additive map Ω on \mathcal{W} is called as Lie derivation if $\Omega([x, y]) = [\Omega(x), y] + [x, \Omega(y)]$ holds for all $x, y \in \mathcal{W}$. An additive map Ω on \mathcal{W} is called as Lie triple derivation if $\Omega([[x, y], z]) = [[\Omega(x), y], z] + [[x, \Omega(y)], z] + [[x, y], \Omega(z)]$ holds for all $x, y, z \in \mathcal{W}$. Furthermore, An additive map Ω on \mathcal{W} is called as Jordan derivation if $\Omega(x \circ y) = \Omega(x) \circ y + x \circ \Omega(y)$ is always true for every $x, y \in \mathcal{W}$. Every derivation is usually both a Lie and Jordan derivation, and also every Lie derivation is a Lie triple derivation. However, the contrary arguments are not true. An essential expression $[[x, y], z] = x \circ (y \circ z) - y \circ (x \circ z)$ for every $x, y, z \in \mathcal{W}$ demonstrates that every Jordan derivation is also a Lie triple derivation. Hence, working on Lie triple derivations allows treating both the major classes, viz., Jordan and Lie derivations at the same time. Previously, numerous authors have contributed significantly to the related concerns (see [1, 2, 4, 5, 9, 10, 13, 14, 17, 18]) for the Lie triple derivation. In fact, usually the researchers obtained that a Lie triple derivation on a unital algebra is proper, meaning it could be represented as the sum of additive derivation and linear functional that vanishes on all Lie triple products.

A bilinear map $\delta : \mathcal{W} \times \mathcal{W} \rightarrow \mathcal{W}$ is said to be a bi-derivation (resp. Lie bi-derivation), if it is a derivation (resp. Lie derivation) with respect to both components, that means

$$\delta(xy, z) = \delta(x, z)y + x\delta(y, z) \quad \text{and} \quad \delta(x, yz) = \delta(x, y)z + y\delta(x, z)$$

$$\text{(resp. } \delta([x, y], z) = [\delta(x, z), y] + [x, \delta(y, z)] \quad \text{and} \quad \delta(x, [y, z]) = [\delta(x, y), z] + [y, \delta(x, z)])$$

for all $x, y, z \in \mathcal{W}$. If \mathcal{W} is a noncommutative ring, then the map $\delta(x, y) = \lambda[x, y]$ for all $x, y \in \mathcal{W}$, where $\lambda \in \mathcal{Z}(\mathcal{W})$, is called an inner bi-derivation. In [7] authors studied the bi-derivation on quaternion rings. In continuation, we study the Lie bi-derivation on Quaternion rings in the present article.

Let \mathcal{W} be a ring with identity. Consider

$$\mathcal{Q} = \mathcal{H}(\mathcal{W}) = \{s_0 + s_1i + s_2j + s_3k \mid s_0, s_1, s_2, s_3 \in \mathcal{W}\} = \mathcal{W} \oplus \mathcal{W}i \oplus \mathcal{W}j \oplus \mathcal{W}k,$$

where $i^2 = j^2 = k^2 = ijk = -1$, and $ij = -ji$. Upon componentwise addition and multiplication with respect to the given condition, and the conventions that i, j, k commute with \mathcal{W} elementwise, $\mathcal{H}(\mathcal{W})$ is a ring called the quaternion ring over \mathcal{W} .

Generally $\mathcal{H}(\mathcal{W})$ is noncommutative except for \mathcal{W} is commutative of $\text{char}(\mathcal{W}) = 2$ (see [6, Lemma 2.1]). It is significant to mention that the quaternion ring $Q = \mathcal{H}(\mathcal{W})$ turns out to be (isomorphic to) a 2×2 full matrix ring in some specific cases. Assuming that Q has elements with the properties $a^2 = f^2 = 0$ and $af + fa = 1$, it follows that Q is isomorphic to a 2×2 complete matrix ring according to [11, Theorem 17.10]. Assume, for instance, that \mathcal{W} is an algebra over the field \mathbb{Z}_p , where p is an odd prime integer. According to a familiar result in number theory, there exists $x, y \in \mathbb{Z}_p$ such that $1 + x^2 + y^2 = 0$. Assume now that Q has $a = \frac{1}{2}(-yi + xj - kp)$, $f = \frac{1}{2}(-yi + xj + k)$. A simple calculation establishes that $a^2 = f^2 = 0$ and $af + fa = 1$. Thus, according to the aforementioned theorem, Q is a 2×2 matrix ring. In these circumstances, any characterization of a map on Q has an analogous specification when such map is examined on the corresponding matrix ring and vice versa.

2. LIE BI-DERIVATION

In this section, we start with some basic facts about Lie bi-derivations as follows.

Lemma 1. *Let $\delta : Q \times Q \rightarrow Q$ be a Lie bi-derivation on Q . Then δ satisfies*

$$[\delta(x, y), [u, v]] + [\delta(u, v), [x, y]] = [\delta(x, v), [u, y]] + [\delta(u, y), [x, v]] \text{ for all } x, y, u, v \in Q.$$

Proof. For any $x, y, u, v \in Q$, we have

$$\begin{aligned} \delta([x, u], [y, v]) &= [\delta(x, [y, v]), u] + [x, \delta(u, [y, v])] \\ &= [[\delta(x, y), v], u] + [[y, \delta(x, v)], u] + [x, [\delta(u, y), v]] + [x, [y, \delta(u, v)]]. \end{aligned}$$

On the other way,

$$\begin{aligned} \delta([x, u], [y, v]) &= [\delta([x, u], y), v] + [y, \delta([x, u], v)] \\ &= [[\delta(x, y), u], v] + [[x, \delta(u, y)], v] + [y, [\delta(x, v), u]] + [y, [x, \delta(u, v)]]. \end{aligned}$$

On comparing above two expressions, it is easy to obtain that

$$[\delta(x, y), [u, v]] - [[x, y], \delta(u, v)] = [\delta(x, v), [u, y]] - [[x, v], \delta(u, y)].$$

for all $x, y, u, v \in Q$. □

Theorem 1. *Let \mathcal{W} be a ring with identity in which 2 is invertible and let $Q = \mathcal{H}(\mathcal{W})$. Then every Lie bi-derivation of Q is central.*

Proof. Let $X = x_1 + y_1i + z_1j + w_1k$ and $Y = x_2 + y_2i + z_2j + w_2k$ be arbitrary elements of Q and let $\delta : Q \times Q \rightarrow Q$ be a Lie bi-derivation. Since δ is biadditive, we have

$$\begin{aligned} \delta(X, Y) &= \delta(x_1, x_2) + \delta(x_1, y_2i) + \delta(x_1, z_2j) + \delta(x_1, w_2k) \\ &\quad + \delta(y_1i, x_2) + \delta(y_1i, y_2i) + \delta(y_1i, z_2j) + \delta(y_1i, w_2k) \\ &\quad + \delta(z_1j, x_2) + \delta(z_1j, y_2i) + \delta(z_1j, z_2j) + \delta(z_1j, w_2k) \end{aligned}$$

$$+ \delta(w_1k, x_2) + \delta(w_1k, y_2i) + \delta(w_1k, z_2j) + \delta(w_1k, w_2k).$$

Now we describe all parts of the above expansion. For any $x \in Q$, we have

$$\begin{aligned} \delta(0, x) &= \delta([x, x], x) \\ &= [x, \delta(x, x)] + [\delta(x, x), x] = 0. \end{aligned}$$

Similarly, we can have

$$\delta(0, i) = \delta(0, j) = \delta(0, k) = 0 = \delta(i, 0) = \delta(j, 0) = \delta(k, 0) = \delta(x, 0). \quad (2.1)$$

In the similar manner,

$$\delta(0, xi) = \delta(0, xj) = \delta(0, xk) = 0 = \delta(xi, 0) = \delta(xj, 0) = \delta(xk, 0). \quad (2.2)$$

By Lemma 1, we know that

$$[\delta(x, y), [u, v]] + [\delta(u, v), [x, y]] = [\delta(x, v), [u, y]] + [\delta(u, y), [x, v]] \quad (2.3)$$

for all $x, y, u, v \in Q$.

Put $u = i = y$ & $v = j$ and suppose that $\delta(x, i) = a + bi + cj + dk$, we get

$$\begin{aligned} [\delta(x, i), [i, j]] + [\delta(i, j), [x, i]] &= [\delta(x, j), [i, i]] + [\delta(i, i), [x, j]] \\ [\delta(x, i), 2k] &= 0 \end{aligned}$$

$$(a + bi + cj + dk)k - k(a + bi + cj + dk) = 0.$$

Hence $\delta(x, i) = a + dk$. Again, put $y = i, u = j$ & $v = k$ in (2.3), we get

$$\begin{aligned} [\delta(x, i), [j, k]] + [\delta(j, k), [x, i]] &= 0 \\ [\delta(x, i), 2i] &= 0 \\ (a + dk)i - i(a + dk) &= 0. \end{aligned}$$

This implies that $\delta(x, i) = a$.

In similar manner, $\delta(x, j) = \delta(x, k) = a = \delta(i, x) = \delta(j, x) = \delta(k, x)$. Also, suppose that $\delta(xi, y) = u + vi + wj + zk$, then we get

$$\begin{aligned} \delta(0, x) &= \delta([xi, i], y) \\ 0 &= [xi, \delta(i, y)] + [\delta(xi, y), i] \\ &= [xi, a] + [u + vi + wj + zk, i] \\ &= [x, a]i - 2wk + 2zj, \end{aligned}$$

which implies to $\delta(xi, y) = u + vi$ and $\delta(i, y) = a \in \mathcal{Z}(\mathcal{W})$. Note that

$$\begin{aligned} \delta(0, j) &= \delta([x, i], j) \\ 0 &= [x, \delta(i, j)] + [\delta(x, j), i] \\ &= [x, \delta(i, j)] \end{aligned}$$

it follows that $\delta(i, j) \in \mathcal{Z}(\mathcal{W})$. Also with $\delta(x, y) = u' + v'i + w'j + z'k$, we get

$$\delta(0, y) = \delta([i, x], y)$$

$$\begin{aligned} 0 &= [i, \delta(x, y)] + [\delta(i, y), x] \\ &= [i, u' + v'i + w'j + z'k] \end{aligned}$$

and hence $\delta(x, y) = u' + v'i$. Further we obtain

$$\begin{aligned} \delta(0, y) &= \delta([j, x], y) \\ 0 &= [j, \delta(x, y)] + [\delta(j, y), x] \\ &= [j, u' + v'i]. \end{aligned}$$

This implies $\delta(x, y) = u'$. From (2.3), we arrive at

$$\begin{aligned} [\delta(xi, y), [i, j]] + [\delta(i, j), [xi, y]] &= [\delta(xi, j), [i, y]] + [\delta(i, y), [xi, j]] \\ [\delta(xi, y), 2k] &= 0 \\ [u + vi, 2k] &= 0 \end{aligned}$$

and hence $\delta(xi, y) = u$. From (2.1), we have

$$\begin{aligned} \delta(0, y) &= \delta([x, xi], y) \\ 0 &= [x, \delta(xi, y)] + [\delta(x, y), xi] \\ &= [x, u] + [u', x]i \end{aligned}$$

it follows that $\delta(xi, y) = u \in \mathcal{Z}(\mathcal{W})$ and $\delta(x, y) \in \mathcal{Z}(\mathcal{W})$.

In the similar way we can find

$$\delta(x, yi), \delta(xj, y), \delta(x, yj), \delta(xk, y), \delta(x, yk) \in \mathcal{Z}(\mathcal{W}).$$

Also, from (2.2)

$$\begin{aligned} \delta(0, xi) &= \delta([y, i], xi) \\ 0 &= [y, \delta(i, xi)] + [\delta(y, xi), i] \\ &= [y, \delta(i, xi)] \end{aligned}$$

and hence $\delta(i, xi) \in \mathcal{Z}(\mathcal{W})$. Again, we see that

$$\begin{aligned} \delta(0, xi) &= \delta([y, j], xi) \\ 0 &= [y, \delta(j, xi)] + [\delta(y, xi), j] \\ &= [y, \delta(j, xi)] \end{aligned}$$

implies that $\delta(j, xi) \in \mathcal{Z}(\mathcal{W})$.

Assume that $\delta(xi, yi) = u + iv + wj + zk$, then we get

$$\begin{aligned} \delta(0, yi) &= \delta([i, xi], yi) \\ 0 &= [i, \delta(xi, yi)] + [\delta(i, yi), xi] \\ &= [i, \delta(xi, yi)] \end{aligned}$$

and it leads to $\delta(xi, yi) = u + iv$. Further, we have

$$\begin{aligned}\delta(0, yi) &= \delta([j, xi], yi) \\ 0 &= [j, \delta(xi, yi)] + [\delta(j, yi), xi] \\ &= [j, u + vi]\end{aligned}$$

implies that $\delta(xi, yi) = u$. Again, we have

$$\begin{aligned}\delta(0, yi) &= \delta([x, xi], yi) \\ 0 &= [x, \delta(xi, yi)] \\ &= [x, u],\end{aligned}$$

this implies $\delta(xi, yi) \in \mathcal{Z}(\mathcal{W})$.

Similarly, we have $\delta(xj, yj), \delta(xk, yk) \in \mathcal{Z}(\mathcal{W})$. With (2.2), we have

$$\begin{aligned}\delta(0, yj) &= \delta([x, xi], yj) \\ 0 &= [x, \delta(xi, yj)] + [\delta(x, yj), xi] \\ &= [x, u]\end{aligned}$$

and hence $\delta(xi, yj) \in \mathcal{Z}(\mathcal{W})$. Likewise

$$\delta(xi, yk), \delta(xj, yi), \delta(xj, yk), \delta(xk, yi), \delta(xk, yj) \in \mathcal{Z}(\mathcal{W}).$$

Thus, we see that $\delta(X, Y) \in \mathcal{Z}(\mathcal{W})$ and by [7, Lemma 2.4], we have $\delta(X, Y) \in \mathcal{Z}(Q)$. \square

3. LIE TRIPLE DERIVATION

In this section, we present one of the main results of this article as follows:

Theorem 2. *Let $f : Q \rightarrow Q$ be a Lie triple derivation. Then there exists an element A in Q , a Lie triple derivation α on \mathcal{W} and a Jordan derivation β on \mathcal{W} such that $f(t) = \alpha(x) + \beta(y)i + \beta(z)j + \beta(w)k + I_A(t)$ for every element $t = x + yi + zj + wk \in Q$.*

Proof. Let f be a Lie triple derivation of Q and assume $f(i) = a + bi + cj + dk$ and $f(j) = x + yi + zj + wk$, we find

$$\begin{aligned}f(j) &= \frac{1}{4}f([[i, j], i]) \\ &= \frac{1}{4}[[f(i), j], i] + \frac{1}{4}[[i, f(j)], i] + \frac{1}{4}[[i, j], f(i)] \\ &= \frac{1}{2}[bk - di, i] + \frac{1}{2}[zk - wj, i] + \frac{1}{2}[k, a + bi + cj + dk] \\ &= bj + zj + wk + bj - ci \\ &\implies x + yi + zj + wk = -ci + (2b + z)j + wk\end{aligned}$$

and hence $x = 0, y = -c, 2b = 0$, this leads to $f(i) = a + cj + dk$ and $f(j) = yi + zj + wk$. Again, we see that

$$\begin{aligned}
 f(i) &= \frac{1}{4}f([[j, i], j]) \\
 &= \frac{1}{4}[[f(j), i], j] + \frac{1}{4}[[j, f(i)], j] + \frac{1}{4}[[j, i], f(j)] \\
 &= \frac{1}{4}[[yi + zj + wk, i], j] + \frac{1}{4}[[j, a + cj + dk], j] + \frac{1}{4}[[j, i], yi + zj + wk] \\
 &= \frac{1}{2}[-zk + wj, j] + \frac{1}{2}[di, j] + \frac{1}{2}[yi + zj + wk, k] \\
 &\implies a + cj + dk = 2zi - yj + dk,
 \end{aligned}$$

this implies that $a = 0, 2z = 0, c = -y$ and hence $f(i) = cj + dk$ and $f(j) = -ci + wk$.

In similar manner, we get $f(k) = -di - wj$. Let us suppose $f(1) = a + bi + cj + dk$

$$\begin{aligned}
 0 &= f([[j, k], 1]) \\
 &= [[f(j), k], 1] + [[j, f(k)], 1] + [[j, k], f(1)] \\
 &= [i, f(1)] \\
 &= ai + bi^2 + cij + dik - ai - bi^2 - cji - dki \\
 &= 2ck - 2dj
 \end{aligned}$$

$\implies d = 0, c = 0$ that's why $f(1) = a + bi$. Similarly with $[[i, k], 1] = 0$, we have $b = 0$. Then $f(1) = a$.

Applying f on $[[sj, k], 1] = 0$, we find that

$$\begin{aligned}
 0 &= f([[sj, k], 1]) \\
 &= [[f(sj), k], 1] + [[sj, f(k)], 1] + [[sj, k], f(1)] \\
 &\implies f(1) \in \mathcal{Z}(\mathcal{W}).
 \end{aligned}$$

Now let us take $f(si) = x + yi + zj + wk$ and using $f(i) = cj + dk, f(j) = -ci + bk$ and $f(k) = -di - bj$

$$\begin{aligned}
 0 &= f([[si, i], j]) \\
 &= [[f(si), i], j] + [[si, f(i)], j] + [[si, i], f(j)] \\
 &= [[x + yi + zj + wk, i], j] + [[si, cj + dk], j] \\
 &= [2wj - 2zk, j] + [(s \circ c)k - (s \circ d)j, j] \\
 &= 4zi - 2(s \circ c)i.
 \end{aligned}$$

Also, we have

$$\begin{aligned}
 0 &= f([[si, i], k]) \\
 &= [[f(si), i], k] + [[si, f(i)], k] + [[si, i], f(k)]
 \end{aligned}$$

$$\begin{aligned}
&= [[x + yi + zj + wk, i], k] + [[si, cj + dk], k] \\
&= [2wj - 2zk, k] + [(s \circ c)k - (s \circ d)j, k] \\
&= 4wi - 2(s \circ d)i.
\end{aligned}$$

Thus, we conclude that $z = \frac{1}{2}(s \circ c)$ and $w = \frac{1}{2}(s \circ d)$ and this leads to

$$f(si) = x + yi + \frac{1}{2}(s \circ c)j + \frac{1}{2}(s \circ d)k.$$

Now

$$\begin{aligned}
f(si) &= \frac{1}{4}f([[k, si], k]) \\
&= \frac{1}{4}[[f(k), si], k] + \frac{1}{4}[[k, f(si)], k] + \frac{1}{4}[[k, si], f(k)] \\
x + yi + \frac{1}{2}(s \circ c)j + \frac{1}{2}(s \circ d)k &= \frac{1}{4}[[-di - bj, si], k] + \frac{1}{4}[[k, x + yi \\
&\quad + \frac{1}{2}(s \circ c)j + \frac{1}{2}(s \circ d)k], k] + \frac{1}{4}[[k, si], -di - bj],
\end{aligned}$$

this implies $x = \frac{1}{2}I_b(s)$ and by taking $y = \beta(s)$, we obtain

$$f(si) = \frac{1}{2}I_b(s) + \beta(s)i + \frac{1}{2}(s \circ c)j + \frac{1}{2}(s \circ d)k, \quad (3.1)$$

where $\beta : \mathcal{W} \rightarrow \mathcal{W}$ is an additive map uniquely determined by f . Similarly, we can find that

$$f(sj) = -\frac{1}{2}I_d(s) - \frac{1}{2}(s \circ c)i + \beta(s)j + \frac{1}{2}(s \circ b)k \quad (3.2)$$

$$f(sk) = \frac{1}{2}I_c(s) - \frac{1}{2}(s \circ d)i - \frac{1}{2}(s \circ b)j + \beta(s)k. \quad (3.3)$$

For $s \in \mathcal{W}$ and let us take $f(s) = x + yi + zj + wk$. Now applying f on $[[i, j], s] = 0$, we find that $z = \frac{1}{2}I_d(s)$ and $w = -\frac{1}{2}I_c(s)$. Also with $[[k, i], s]$, we obtain that $y = -\frac{1}{2}I_a(s)$. Therefore,

$$f(s) = \alpha(s) - \frac{1}{2}I_a(s)i + \frac{1}{2}I_d(s)j - \frac{1}{2}I_c(s)k, \quad (3.4)$$

where $\alpha : \mathcal{W} \rightarrow \mathcal{W}$ is an additive map uniquely determined by f . Let $s_1, s_2 \in \mathcal{W}$. Replacing s with $[[s_1, s_2], s_3]$ in (3.4), we infer that α is a Lie triple derivation of \mathcal{W} . Moreover, applying f to the identities

$$\begin{aligned}
[[s_1j, k], s_2j] &= 2(s_1 \circ s_2)k \\
[[s_1j, k], s_2i] &= 2[s_2, s_1] \\
[[s_1j, k], s_2] &= 2[s_1, s_2]i
\end{aligned}$$

and using the foregoing calculations, we find, respectively, that

$$\begin{aligned}\beta(s_1 \circ s_2) &= \beta(s_1) \circ s_2 + s_1 \circ \beta(s_2) \\ \alpha([s_1, s_2]) &= [\beta(s_1), s_2] + [s_1, \beta(s_2)] \\ \beta([s_1, s_2]) &= [\alpha(s_1), s_2] + [s_1, \beta(s_2)].\end{aligned}$$

Now let $t = x + yi + zj + wk \in Q$ be an arbitrary element. Using (3.1), (3.2), (3.3) and (3.4), we find that

$$f(t) = \alpha(x) + \beta(y)i + \beta(z)j + \beta(w)k + h(t),$$

where

$$\begin{aligned}h(t) &= \frac{1}{2}(I_b(y) - I_d(z) + I_c(w)) + \frac{i}{2}(-I_b(x) - z \circ c - w \circ d) \\ &\quad + \frac{j}{2}(I_d(x) + y \circ c - w \circ b) + \frac{k}{2}(-I_c(x) + y \circ d + z \circ b).\end{aligned}$$

It is easily seen $h(t) = I_A(t)$, where

$$A = \frac{1}{2}(-bi + dj - ck) = \frac{1}{4}(f(i)i + f(j)j + f(k)k).$$

Consequently,

$$f(t) = \alpha(x) + \beta(y)i + \beta(z)j + \beta(w)k + I_A(t).$$

This proves the required result. \square

Here is an example describing how to format some very long formula:

Example 1. Let $\mathcal{W} = \mathbb{Z}_4$ and $Q = H(\mathbb{Z}_4)$. It is simple to confirm that the mapping $f : Q \rightarrow Q$ provided by $f(t) = 2t$ is a Lie triple derivation. We assert that f does not have a decomposition as in the theorem. Suppose that $f(t) = \alpha(x) + \beta(y)i + \beta(z)j + \beta(w)k + I_A(t)$ for all $t = x + yi + zj + wk \in Q$, where β is Jordan derivation of \mathcal{W} , α is Lie triple derivation of \mathcal{W} and $A = a + bi + cj + dk$ is an element of Q . Obviously, $\beta = 0$. Furthermore, because α is additive, it is obvious that there exists an element $r \in \mathcal{W}$ provided by $\alpha(x) = rx$ for every $x \in \mathcal{W}$. So as a conclusion, for any $t = x + yi + zj + wk \in Q$, $2t = f(t) = rx + I_A(t)$. Assuming $t = i$, we get $2i = -2dj + 2ck$, a contradiction.

As a direct consequence of the above theorem, we can conclude

Corollary 1. *Suppose that the ring \mathcal{W} is commutative. Then Lie triple derivation f is in standard form.*

REFERENCES

- [1] D. Alghazzawi, A. Jabeen, M. A. Raza, and T. Al-sobhi, “Characterization of Lie biderivations on triangular rings.” *Comm. Algebra*, 2023, accepted, doi: [10.1080/00927872.2023.2209809](https://doi.org/10.1080/00927872.2023.2209809).
- [2] M. Ashraf and A. Jabeen, “Nonlinear Lie triple higher derivation on triangular algebras,” in *Advances in rings and modules. Dedicated to Bruno J. Müller*. Providence, RI: American Mathematical Society (AMS), 2018, pp. 43–57, doi: [10.1090/conm/715/14403](https://doi.org/10.1090/conm/715/14403).
- [3] S. Asif, Z. Wu, and M. Munir, “On the Lie triple derivations.” *Linear Multilinear Algebra*, pp. 1–12, 2021, doi: [10.1080/03081087.2021.1946464](https://doi.org/10.1080/03081087.2021.1946464).
- [4] D. Benkovič, “Lie triple derivations on triangular matrices.” *Algebra Colloq.*, vol. 18, pp. 819–826, 2011, doi: [10.1142/S1005386711000708](https://doi.org/10.1142/S1005386711000708).
- [5] D. Benkovič, “Lie triple derivations of unital algebras with idempotents.” *Linear Multilinear Algebra*, vol. 63, no. 1, pp. 141–165, 2015, doi: [10.1080/03081087.2013.851200](https://doi.org/10.1080/03081087.2013.851200).
- [6] H. Ghahramani, M. N. Ghosseiri, and L. Heidari Zadeh, “On the Lie derivations and generalized Lie derivations of quaternion rings,” *Commun. Algebra*, vol. 47, no. 3, pp. 1215–1221, 2019, doi: [10.1080/00927872.2018.1501577](https://doi.org/10.1080/00927872.2018.1501577).
- [7] H. Ghahramani, M. N. Ghosseiri, and S. Safari, “On derivations, biderivations and superbiderivations of quaternion rings,” *Rend. Circ. Mat. Palermo (2)*, vol. 70, no. 2, pp. 665–674, 2021, doi: [10.1007/s12215-020-00518-1](https://doi.org/10.1007/s12215-020-00518-1).
- [8] B. Hvala, “Generalized derivations in rings,” *Commun. Algebra*, vol. 26, no. 4, pp. 1147–1166, 1998, doi: [10.1080/00927879808826190](https://doi.org/10.1080/00927879808826190).
- [9] A. Jabeen, M. A. Raza, and M. Ahmad, “On triangular n -matrix rings having multiplicative Lie type derivations.” *Filomat*, vol. 36(18), p. 6103–6122, 2022, doi: [10.2298/FIL2218103J](https://doi.org/10.2298/FIL2218103J).
- [10] P. Ji, R. Liu, and Y. Zhao, “Nonlinear Lie triple derivations of triangular algebras.” *Linear Multilinear Algebra*, vol. 60, no. 10, pp. 1155–1164, 2012, doi: [10.1080/03081087.2011.652109](https://doi.org/10.1080/03081087.2011.652109).
- [11] T. Y. Lam, *Lectures on modules and rings*. New York: Springer, 1999. doi: [10.1007/978-1-4612-0525-8](https://doi.org/10.1007/978-1-4612-0525-8).
- [12] P.-B. Liao and C.-K. Liu, “On generalized Lie derivations of Lie ideals of prime algebras.” *Linear Algebra Appl.*, vol. 430, no. 4, pp. 1236–1242, 2009, doi: [10.1016/j.laa.2008.10.022](https://doi.org/10.1016/j.laa.2008.10.022).
- [13] L. Liu, “Lie triple derivations on factor von Neumann algebras,” *Bull. Korean Math. Soc.*, vol. 52, no. 2, pp. 581–591, 2015, doi: [10.4134/BKMS.2015.52.2.581](https://doi.org/10.4134/BKMS.2015.52.2.581).
- [14] L. Liu, “Lie triple derivations on von Neumann algebras,” *Chin. Ann. Math., Ser. B*, vol. 39, no. 5, pp. 817–828, 2018, doi: [10.1007/s11401-018-0098-0](https://doi.org/10.1007/s11401-018-0098-0).
- [15] W. S. I. Martindale, “Lie derivations of primitive rings,” *Mich. Math. J.*, vol. 11, pp. 183–187, 1964, doi: [10.1307/mmj/1028999091](https://doi.org/10.1307/mmj/1028999091).
- [16] C. R. Miers, “Lie derivations of von Neumann algebras,” *Duke Math. J.*, vol. 40, pp. 403–409, 1973, doi: [10.1215/S0012-7094-73-04032-5](https://doi.org/10.1215/S0012-7094-73-04032-5).
- [17] C. R. Miers, “Lie triple derivations of von Neumann algebras,” *Proc. Am. Math. Soc.*, vol. 71, pp. 57–61, 1978, doi: [10.2307/2042216](https://doi.org/10.2307/2042216).
- [18] D. Wang and Z. Xiao, “Lie triple derivations of incidence algebras,” *Commun. Algebra*, vol. 47, no. 5, pp. 1841–1852, 2019, doi: [10.1080/00927872.2018.1523422](https://doi.org/10.1080/00927872.2018.1523422).

*Authors’ addresses***Mohd Arif Raza**

(Corresponding author) Department of Mathematics, College of Science & Arts-Rabigh, King Abdulaziz University, Jeddah, Saudi Arabia

E-mail address: arifraza03@gmail.com

Aisha Jabeen

Department of Applied Sciences & Humanities, Jamia Millia Islamia, New Delhi 110025, India

E-mail address: ajabeen329@gmail.com

Tahani Al-Sobhi

Department of Mathematics, College of Science & Arts-Rabigh, King Abdulaziz University, Jeddah,
Saudi Arabia

E-mail address: talialsobhi@stu.kau.edu.sa